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float x;
sum=0;

for (i=0;i<5;++i)

scanf(“%f”,&x);
sum+=x;

}

ave=sum/5;
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float x0,x1,x2,x3,x4;
float ave,var;
scanf(“%f%f%f%f%f",&x0,&x1,&x2,&%3,&x4);
ave=(X0+x1+x2+x3+x4)/5;
var=(pow(x0-ave,2)+pow(x1l-ave,2)+pow(x2-
ave,2)+pow(x3-ave,2)+pow(x4-ave,2))/5;
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ch[0]=getche();

scanf(“%d”,&x[2]);
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ch[0]=‘a’;

X[2]=23;
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int x[3]={2,3,-5};
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float f[2]={0.34,4.33};

char ch[4]={'a’, d",x’,'V'};
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int x[2]={3,4,6,7,8}
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int x[3]={3,4}
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int x[100]={0}
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Int i=8;
Int X[i];
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int a[3];
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a[0]=4;

scanf(“%d”,a[1]);

for (i=0;i<3;++i)
scanf(“%d”,&a[i]);
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float a[4]={4.34,9.45,3.23,1.02};
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float a[3]={7.34,1.2,3.4,1.44};
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float a[3]={2.34,3.23};

ZWYKY

305 B il 313 9 Sl dmlone ( JUio
#include <stdio.h>
#include <math.h>
void main()

float x[5];

float sum=0, ave;
intl;

for (i=0;i<5;++i)

scanf(“%f”,&x[i]);
sum+=x[i];

ave=sum/5;
var=0;
for (i=0;i<5;++i)

var+=pow (x[i]-ave,2)/5;
printf(“The average=%f",ave);
Printf(“The variance=%f",var)

}




#include <stdio.h>
void main()
{ . .
int i;
int x[4];
for (i=0;i<4;++i)
scanf(“%f”,&x[i]);
for (i=0;i<4;++i)
printf(“\t%f”,x[i]);
}
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#include <stdio.h>
void main()

{

inti;

float x[¥0];

float max;

int max_index;

for (i=0;i<¥f0;++i)

{ printf("Enter number %dth:",(i+1));
scanf("%f",&x[i]);

}

max=x[0];
max_index=0;
for (i=1;i<¥f0;++i)
if (x[i]>max)
{
max=x[i];
max_index=i;
}
printf("\nThe maximum=%f",max);
printf("\nAnd its index=%d",max_index);
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float x[10];

int i;

for (i=0;i<10;++i)

scanf(“%f”,&x[i]);
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float temp;
temp=x;
X=Y;
y=temp;
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#include <stdio.h>

void main()

intij; {
float A[10];
float temp;

for (i=0;i<10;++i)
scanf(" %f",&A[i]);
for (i=0;i<9;++i)
for (j=0;j<9-i;++j)
if (A[j]>A[j+1]g

temp=A[j];
AlI=Af+1];
Alj+1]=temp;
}
for (i=0;i<10;++i)
printf("\n%f" ,A[i]);
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float max(float x[10])

{
int i;
float max=x[0];
for (i=1;i<10;++i)
if (X[i]>max)
max=Xx]i];
return max;
}
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#include <stdio.h>
float max(float x[])

void main()
{
inti;
float A[10];

for (i=0;i<10;++i)
scanf("%f" ,&A[i]);
printf("\nThe maximum=%f",max(A));

}
{

inti;
float max=x[0];
for (i=1;i<10;++i)
if (x[i]>max)
max=x[i];
return max;

}
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char st[20]=“Ali";
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#include <stdio.h>
void main()
{
char st[20]="Hello";
printf("%s",s);
}
el Hello plaw 406 9 o3 (995« ol i p25 Hello ylndo b St pb @ (o 4y
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printf(“%s”,”Hello”);
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#include <stdio.h>
void main()
{
char ch[4];
scanf("%s",ch);
printf("%s",ch);
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#include <stdio.h>
void main()
{
char str[23]="Hello";
printf("%c",str[2]);
}
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char s[8]="abc”;
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char s[3]="aghugii’;
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char s[3]="ali”;
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#include <stdio.h>
#Include <string.h>
int strlen(char str[20])
{
int i=0;
while (str[i] '="\0")
i++;
return i;

}

void main()

char str[20];

scanf("%s",str);

printf("%d",strlen(str));
}
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#include <stdio.h>
void main()
{
char str[20];
inti;
printf("Enter a string:");
scanf("%s",str);

i=0;
while (str[i] = "\0")
{
if (str[i]>=97 && str[i]<=122)
printf("%c" ,str[i++]-32);
}
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x=strlen(“ali”);
printf(“%d”,x);
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puts(“ali is a student”);
char ch[20]=*ali;
puts(ch);
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char ss[20];
gets(ss);
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#include <string.h>
#include <stdio.h>
void main()
{
char s1[20]="Ali";
char s2[20]="Mehdi";
strcat(s1,s2);
puts(sl);
puts(s2);
}




